Region ‘X’ Factor ‘Y’ Enzyme ‘2’

(a) Terminator Sigma (o) RNA polymerase
(b) Promoter Rho (p) RNA polymerase
(¢) Promoter Sigma (o) RNA polymerase
(d) Promoter Sigma (o) DNA polymerase
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3. The status of the human population reflected in the human age pyramid given below is:

Post-Reproductive

‘ ‘ Reproductive
Pre-Reproductive
(a) Declining population (b) Stable population (¢) Expanding population  (d) Extinct population
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4. The graph plotted below is based on the data collected by biology students with respect to the levels of oxygen at the specific
points in the river flowing outside their city. Which point in the graph indicates the entry of untreated sewage in the river?

B \\ / y / — Dissolved oxygen
z e 4 P2 I — Mineral ions
3 /
I
(O] (i) (iii) (iv)
Distance along River —
(a) Point (i) (b) Point (i1) (c) Point (iii) (d) Point (iv)
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5. Given below are two columns. In Column I is the list of four enzymes and in Column II is the list of functions of the given
enzymes. Which one of the following options shows the enzymes matched with their respective functions correctly?

Column 1 Column 11

(Enzyme) (Function)
P. DNA Ligase i. Removes nucleotides from ends of DNA
Q. Restriction exonuclease ii. Extends primer on a DNA template
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